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merge: int list * int list -> int list
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sigma : int * int * (int -> int) -> int.
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iter(n, function x -> 2+x) O
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type team = Korea | France | Usa | Brazil | Japan | Nigeria | Cameroon
| Poland | Portugal | Italy | Germany | Norway | Sweden | England
| Argentina

type tourna = LEAF of team

| NODE of tourna * tourna
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parenize: tourna -> string

parenize (NODE(NODE (LEAF Korea, LEAF Portugal), LEAF Brazil))

= "((Korea Portugal) Brazil)"
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type formula = TRUE
| FALSE
| NOT of formula
| ANDALSO of formula * formula
| ORELSE of formula * formula
| IMPLY of formula * formula
| LESS of expr * expr

and expr = NUM of int

| PLUS of expr * expr

| MINUS of expr * expr
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eval : formula — bool

& Aolahi . O

s =21 A
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type crazy3 = NIL | ZERO of crazy3
| ONE of crazy3 | MONE of crazy3
| TWO of crazy3 | MIWO of crazy3

ZERO (ONE(MTWO NIL))
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crazy3val: crazy3 —-> int.
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o= ¢4 crazy3add

crazy3add: crazy3 * crazy3 -> crazy3
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crazy3val (crazy3add(z,z')) = crazy3val(z) + crazy3val(z').



